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(1) INEREER
(BT nd) (5H1HHAE)

[ 20244

F R & B | P EB | AR
& = 851,014 415488 259,482
G N = Y 15,776 4,815 6,382
TN ] A= S '3 14,487 9,418 6,304
S A = Y 15,823 9,430 6,070
5 B O/ F K 27,789 8,326 6,232
B R N K 18,642 9,704 5,295
T S A= Y Y 18,778 8,047 4,992
H OB /b FE K 14,956 7,723 6,168
N ] A= S 4 19,297 13,106 5,878
HET == I A= < 54 15,348 9,091 4,852
H ofm N T K 17,812 8,129 5,616
el 5o— K 10,581 6,575 4,975
[ N I ] A= '3 21,237 12,410 4,902
BOE N K 13,897 6,990 5,854
PE S & VA N Y 13,996 7,346 5,933
T S A= S 17,201 6,322 5,508
KoOE N F K 22,889 8,301 5,194
1T~ ] N= SO 73 19,501 10,692 5,889
S G S SR A= S L 19,979 9,162 6,140
| A A= SN Y 21,078 12,254 6,479
A = Y 18,240 10,796 4,971
HowR N F K 19,480 10,270 6,258
I O A= Y 18,464 9,491 6,451
74 NS = N A= SR Y 16,553 7,227 5,271
OB M o ¥R 18,954 8,490 6,008
wos N K 16,506 8,374 5,648
B ko o F R 15,855 7,642 5,211
(i 1 N NE= S 3 19,664 11,003 5,506
5 R VA A= S 43 20,910 11,046 6,128
(1IN G VA NEE S 53 20,338 12,135 4,937
DI A = '3 23,575 8,829 4,908
B ORE R O R 29,053 7,346 5,714
27 ol | ARV = SO Y 20,780 9,764 5,096
v €S I IV N S i3 16,018 7,722 6,075
(i ] A= S 73 20,549 11,099 5,119
S ] A= '3 19,996 9,302 6,569
'R OR N FE R 18,695 8,293 6,482
i HOR N R 19,685 10,702 5,236
[ S ] N SO 3 18,738 9,489 5,733
R A= 13 19,713 10,499 5,742
E B /b F K 18,426 8,880 5,734
W HE B N K 18,902 8,583 5,022
gt oo A R 19,669 11,390 6,081
[T - EC N A= S Y 24,763 10,976 5,844
E I O A= I 3 16,760 8,300 4,872
BE 75 Al i /N 22 AR 21,661 9,999 10,203
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(2) PR

(B nd) (51 HEIE)
[ 20244F
F R & B | B | AR
& # 462,201 244563 169,108
g5o— B % K 30,636 15,459 8,426
[ S s B S 33,702 19,679 6,869
uo= K 24,888 12,343 9,221
[ 1V S R X 27,724 15,906 8,567
P2 S S 5 22,314 12,778 8,082
G s s = '3 25,685 13,131 6,729
S-S - 21,517 12,267 7,379
B T F K 23,767 14,623 7,550
W OE o K 22,150 10,366 8,046
WOE A P K 20,559 11,731 7,949
" AHE B o2 K 28,594 9,883 7,698
E B F £ &K 21,083 10,180 7,931
iz W ¥ 59 22,618 11,028 8,480
i |\ R e K 21,019 11,866 8,100
WO o K 23,796 14,231 7,748
7S T < B S Y 21,511 11,204 7,748
R T B R Y 23,129 12,926 8,748
#H o b o K 24,729 12,131 6,599
E B B P F K 22,776 12,831 8,830
WA R e — — 1,167
AT R BRA 2
s 55,856 42 877 17,241
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(HEAZ:nd) (51 HHE)
= K 4 2024%F
B RS | (P)MEBY SRt | AR i
o # 358,288 158,970 134,999
MoHF & KR 37,705 20,676 11,092
B 7 8 H &% R 37,366 14,500 15,251
KBRAF LB D o & 4 38,916 16,690 11,130
E R & % % K 48,749 10,700 15,607
=T SR Y 32,593 11,270 17,315
&5 B E:E HF ¥R 33,228 13,600 14,496
W7 & & E &R 32,350 12,153 14,323
RS S ] i S 39,881 15,804 16,606
R

IR g s 2 55,856 42,877 17,241
e A i 1,644 700 1,938
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